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LIBRARY AND INFORMATION SCIENCE
PAPER—II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Herzberg's is two factor theory deals with :
(A) Staff recruitment (B) Leadership
(C) Decision making (D) Motivation

2.  Raja Rammohan Roy Library Foundation :
(i)  Promotes public libraries
(ii) Located at Mumbai

(iii) Promotes school libraries
(iv) Located at Kolkata

(A) (i) and (ii) are correct

( (i) and (iv) are correct
(C) (i) and (iii) are correct
(D) (

iii) and (iv) are correct

3.  The “Principle of Literary Warrant”was propounded by :

(A) S.R. Ranganathan (B) W. Hulme
(C) Melvil Dewey (D) Derek De Solla Price
4.  Pre-natal Cataloguing means :

(A) Simplified Cataloguing (B) Pre-Publication Cataloguing
(C) Selective Cataloguing (D) Shared Cataloguing

5.  The author who defined Reference Service as the “Process of establishing contact
between a reader and his documents in a personal way” is :

(A) WA. Katz (B) L. Shores
(C) M. Hutchins (D) S. R. Ranganathan

6. Identify the odd one :
(A) LISA (B) Psychological Abstracts
(C) Index Medicus (D) World of Learning

D—5906 2



YEAhTard Ua g faqm

TouA—II
T : 39 YT H U= (50) 9 fashedE Uv €1 e U % 9 (2) 3k ¥ 1 |t Wl % IR
sy
1. st w2 e oAl oA | wefua ©
(A) HHAR wdt (B) g
(C) Trofm =t (D)  STfyrgom

2. TSIRHHEA T3 A FiagH
(i) WSS JEIRA! S Hed H ¢ |
(i) Hoorg | feerd B
(i) e o TEIRTCAT i G T ¢ |
(iv) hicTehal # feorq B
(A) (i) 3R (i) T R
(B) (i) 3R (iv) T ¥ |
(C) (i) 3R (iii) TE 1
(D) (iii) 3R (iv) T& B

3. Y i g fagr (Principle of Literary Warrant) & fRa o=

(A) TH.AR THIeA (B) &I, @H
(C) Hwdta et (D) R & dien wgd
4. frafafed § & qg01 96 TEIHW (Pre-natal Cataloguing) &1 &IAdT §&l 37¢f § 2
(A) HAFRd TR (B) WM Td GHHEHI
(C) =Afd =R (D) HEWT Fg= o

5. 9% HAE TUHR €, T deof Jan 1 59 w0 @ ufwnfug faan ¢ gesf dan 9 ufwan € fed
T IS TS SHF SEIES & Hed Ao dX 9 Foore Tfud &l S g’ .
(A) ST, (B) T erd
(C) TH. g (D) TH.IR IHeH

6. Tr=ifctfaa & | faum (odd) =1 Te=nfT
(A) e (B) WIEHIAISHA TIseH
(C) Tred Afewd (D) e 3ATF aAfm
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10.

11.

12.

13.

WIPO stands for :

(A) World Information and Patents Organisation
(B)  World Intellectual Property Organisation

(C) World International Property Organisation

(

D) World Information Protection Organisation

Which of the following is not correctly matched ?
(A) DELNET - Telecommunication Network

(B) Digital Library - Print Material

(C) Thesaurus - List of Descriptors

(D) ISBN - Serial Number

An entry in an Abstracting Journal consists of :

(A) Bibliographic citation

(B) An abstract and bibliographic citation

(C) Annotation

(D) Bibliographic citation, an abstract and initials of the abstractor

Technological Gatekeeper is :
(i) An informal channel

(ii) A term coined by T.J. Allen

(iii) A formal channel

(iv) A term coined by Derek De ]. Solla Price
(A) (i) and (ii) are correct

(B) (i) and (iii) are correct

(C) (ii) and (iii) are correct

(

D) (iii) and (iv) are correct

The National Library for the visually handicapped is located at :
(A) Allahabad (B) Indore (C) Dehradun (D) Nainital

In which of the following network topologies, all the computers are connected to a
central computer :

(A) Ring (B) Star (C) Bus (D) Peer to Peer

If the size of the study population is very small, the following sampling method will
give better results :

(A) Purposive (B) Stratified (C) Random (D) Census
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10.

11.

12.

13.

Ty TS WY 371 T W AT ST 2

(A) TTE TTHRAYE TS U=H ST HESINH |
(B) dce ToihgeTd WISl STFHAIGSIvH |
(C) TS TEEIME WS SAMATESIHA |
(D) deE TTRREYM UIoSRM STNHIESIYH |

freafafaa § o8 g8 (correct match) & € ?

(A) e - WHAR SelshHA

(B) festtea el - Hfga wmf

(C) foErE - %9 (Descriptors) T gl

(D) °TE U ot U7 - s Y1 <1 (Serial Number)

foret Or ufsemt o e wiaf® & et=ia fo wfsafea 8n €1
(A)  TUgE! I

(B) WIS QN YUg= 3eer@

(C) ==

(D) TUgE! Iecid, Y A1 WRekdl & YR (initials)

Technological Gatekeeper % |

() TS ST q1eay

(i) T.J. Allen g1 fAfHd T& 1

(i) W 3ol mem

(iv) = 2 . dien ey g fAHd & ue
(A) (i) 3R (i) TET & |

(B) (i) 3R (iii) T ¥ |

(C) (ii) 3R (iii) TE B

(D) (iii) 3R (iv) T&I B

Qiﬁé i & fau T J&ihTcTd (National Library for the visually handicapped) T s
fem®:

(A) TARETR (B) T=NR (C) e (D) frara
1 ook To foami & § 9% %1 91 8 999 9 59X TF 5 F9gR 9 I8 ®/d © -
(A) T (Ring) (B) N (Star)

(C) 99 (Bus) (D) TR ?,f\tﬁi‘ﬂ'{ (Peer to Peer)

TH S 59 W ereEd foran S € Aafe S9! TR 9gd 81 © af f59 9 & & T
Ffdaa gorett eifeer 9 aRome weqa & ¢

(A) ST (B) W« (C) IRf==® (D)  STTOET
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14. Formatting a document in Computer means :
(A) Editing the content (B) Changing the appearance
(C) Adding new content (D) Changing the font size only

15. Which of the following search devices will lead to an increase in the Recall output ?
(A) Boolean ‘And’ (B) Boolean ‘Not’
(C) Proximity Operators (D) Truncation

16. Orientation of library users is a kind of :
(A) Reference Service
(B) Referral Service
(C) Current Awareness Service
(

D) Selective Dissemination of Information Service

17. Informal Communication among knowledgeable persons is known as :
(A) Invisible College (B) Information Gatekeeper
(C) Communication Gatekeeper (D) Knowledge Management

18.  Which of the following are produced by Institute of Scientific Information :
i)  Science Citation Index
i Current Contents

i
ii

~

iii) Index Medicus

iv) Atom Index

(
(
(
(
(
(
(
(

A) (i), (i) and (iii)
B) (i) and (ii) only
C) (i) and (iii) only
D) (i) and (iv) only

19. The term ‘Precision’to measure the performance of Information Retrieval Systems, was

suggested by :
(A) S.R. Ranganathan (B) F.W. Lancastere
(C) Cyril Cleverdon (D) H.P. Luhn

20. The GMD in a catalogue entry according to AACR-II revised edition is given :
(A) After the title proper
(B) Before the title
(C) After the statement of responsibility
(D) Before the statement of responsibility

D—5906 6



14. FHSIX H TH SO Fl STEI0 & & 279 T
(A) TR I Fared HE (B) &9 U1 ! uRafda e
(@) T HRIW L Trﬁ@_“ﬂ (D) ‘Font size’ &1 gRafdd we

15. frfafed @ fafear (search device’s) ® & rdt fafy ga: wfa fria (Recall output) |
gfg waft :

(A) Fferm TS
(B)  wffer e’
(C) WfeThe TS (Proximity Operators)
(D)
16. TEIHIAE UISh! 1 ATTIEHT (Orientation) fFa TR &t Ta1 T2
(A) G ga (B) %Y Hal
(C) WHfIe STl dal (D) =Ed AT TEROT Fa

17. gfag Al & AL ST FSUul & 39 19 | SHE Sl © ¢
(A) YT HRTfoaTerd (Invisible College)
(B) ¥ SRUT (Information Gatekeeper)
(C) FSUuU gRUE (Communication Gatekeeper)
(D) S 91 (Knowledge Management)

18. freAfafEd § ¥ &M | 7 U sR<iede 3% HEfefheh SThRATH TIR 3l ¢ 7
(i) HIEH WERE T
(i) T FeH
(i) Tevw Hfeww
(iv) TeH god
(A) (i), (if) 3R (i)
(B) (i) T (ii) keIt
(C) (i) T (iii) haet
(D) (i) T (iv) et

19. ‘Precision’ ¥5% ! =T TIHIH Folel % qedish vg foha gema ?
(A) TH.IR THIEEA (B) TH.S5vq, TR
(C) et Seiee (D) wEd. o

20. AACR-I (revised) % @R = 9fafy § GMD el a1t 2
(A) e fafime & 9e=m (B) ¥fde & &
(C) TFIE A & I9=q (D) <T@ ®oA & &
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21.

22.

23.

24.

25.

Assertion (A) : Computerisation of Public Libraries in India is slow.
Reason (R) : Non-availability of resources.

(A) (A) is true but (R) is false

(B) (R) is true but (A) is false

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

Assertion (A) : Reference service is the hub of all library activities.
Reason (R) : It is provided in the shortest possible time.

(A) (A) is true, but (R) is false

(B) (R) is true, but (A) is false

(C) Both (A) and (R) are true, but (R) is not the right explanation of (A)
(D) Both (A) and (R) are true, and (R) is the right explanation

Assertion (A) : Systems analysis identifies the flow of work.

Reason (R) : Systems analysis is not necessary if the library is to be automated.
(A) Both (A) and (R) are correct

(B) Both (A) and (R) are false

(C) (A) is true and (R) is false

(D) (R) is true and (A) is false

Assertion (A) : Users can have access to large number of E-journals through consortia.
Reason (R) : Users are not aware of using web-resources.

(A) (A) is false and (R) is true

(B) (A) is true and (R) is false

(C) Both (A) and (R) are true, but (R) is not the right explanation of (A)

(D) Both (A) and (R) are false

Assertion (A) : Historical, Descriptive and Experimental Methods are scientific
methods.

Reason (R) : A scientific method is one that adopts a logical and systematic
procedure.

A) (A) is true but (R) is false
B) Both (A) and (R) are true
C) (A) is false but (R) is true
D) Both (A) and (R) are true, but (R) is not the correct explanation



21.

22.

23.

24.

25.

ATURYT (A) :  RA | HIASTh TABIA! T HIURIHI 1 T & |
T (R) : TTeT Y A R

(A) (A)FE ¥, forg (R) TTerd €1

(B) (R) Wl &, wfeh (A) TTerd |

(C) (A) &R (R) T ®EI €|

(D) (A) R (R) THI Terd B |

afrre (A) . Ted Far vt Yo7 Tk TfafafiEt &1 % T
HIUT (R) : Hed a1 %7 9 %9 999 | Y H1 Sl 2 |
(A) (A) FE E, &fhd (R) T g

(B) (R) W& &, Afehd (A) Toid g |

(C) T (A) T (R) Tl €, AfFA (R), (A) T el =1 Tl S
(D) T (A) Td (R) T8l B T (R) W &A1 B |

AR (A) :  JUTel faverT % gaTe i < 7

T (R) : Il qEAHTTT ! TETAH Y (G317 § @ H1E Y8 hi SAIvIhdl el & |
(A) THi (A) T (R) & €

(B) gHI (A) T (R) TTerd €|

(C) (AT E TH (R) T B

(D) (R) W&l g, T (A) T 2|

AR (A) : IS ATHF T H Seteeieh INLATAHIS i HaIAT o HEAH F UTH H
Hehdl T |

SHTOT (R) : q13eh Gl % STANT A ST e ¢ |

(A) (A)7ed €, 3R (R) W&t B |

(B) (A)¥& %, 3R (R) T g |

(C) (A) 3R (R) I F&l 8, A (R), (A) T F&l A T2 2 |

(D) (A) R (R) T Terd B |

AR (A) :  Ufqeifaes, auireaes e gEifies fafuar axfe fafeai &

T/ (R) : et fafy =t fafy & < @ifsher @ faifom alemT sToemt €1
(A) (A) Wl &, dfT (R) Terd B

(B) (A)TH (R) 3HI HEl &1

(C) (A) Terd B, wfeh (R) T& |

(D) (A) Wd (R) Sl W&l 8, Aifeh (R) W&l =41 (explanation) &l & |
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26.

27.

28.

29.

30.

31.

The chronological sequence of the technology is :

(A) Telephone, Television, Satellite Communication, INTERNET
(B) Telephone, Satellite Communication, Television, INTERNET
(C) Telephone, Television, INTERNET, Satellite Communication
(D) Telephone, INTERNET, Television, Satellite Communication

Identify the correct order of the evolution of the following storage devices :
(A) DVD, Magnetic tape, Floppy, CD
(B) CD, DVD, Magnetic tape, Floppy
(C) Floppy, CD, DVD, Magnetic tape
(D) Magnetic tape, Floppy, CD, DVD

Identify the correct order of evolution of computers :
(A) PC-XT, PC-AT, Main frame, Micro
(B) PC-AT, PC-XT, Main frame, Micro
(C) Micro, PC-AT, PC-XT, Main frame
(D) Main frame, Micro, PC-AT, PC-XT

Identify the correct order of evolution of the following storage order.
(A) Paper, Micro card, Magnetic tape, Clay tablet
(B) Clay tablet, Paper, Micro card, Magnetic tape
(C) Micro card, Magnetic tape, Clay tablet, Paper
(D) Magnetic tape, Clay tablet, Paper, Micro card

Identify the correct chronological order in which the following were established :

(A) National Library of India (Kolkata), Delhi Public Library, Documentation Research
and Training Centre, Raja Ram Mohan Roy Library Foundation

(B) Delhi Public Library, Documentation Research and Training Centre, Raja Ram
Mohan Roy Library Foundation, National Library of India (Kolkata)

(C) Documentation Research and Training Centre, Raja Ram Mohan Roy Library
Foundation, National Library of India (Kolkata), Delhi Public Library

(D) Raja Ram Mohan Roy Library Foundation, National Library of India (Kolkata),
Delhi Public Library, Documentation Research and Training Centre

Which one of the sequences is in ascending order ?
(A) Bytes, Gigabytes, Megabytes, Terrabytes
(B) Bytes, Megabytes, Gigabytes, Terrabytes
(C) Bytes, Terrabytes, Megabytes, Gigabytes
(D) Megabytes, Bytes, Terrabytes, Gigabytes
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26.

27.

28.

29.

30.

31.

SHATATSIT 1 &l HIATIRA 3TIFHHA (chronological sequence) FIF T & ?
(A) ETHMH, e, Ve HogThyM, 3o
(B) WM, HATES Hog(TohyM, SEfifae, getie
(C) IE®M, SEfifasH, $etie, HeaTe HheoyThy
(D) IE®M, Fe0e, olfasH, HeaTe HeogThe

Frefafea Jeru g Tuel &1 fae™ FArgaR §8l %9 9 e
(A) EErEl, Bfew U, S, el
(B) eI, Sdtel, Afesw U, Swrdl
(C) wardt, €, SEtel, afesh <0

o_n a_no_n

(D) #HfeH 24, S, 9iel, Sdrel

FEHR HH & [T & Tal HH H GBI
(A) TE-TsE &, E-T, 89 %, TEm
(B) ri-udl, Neft-usw &, A7 %A, WEsh!
(C) HTEshl, ei-T2l, Wefi-usd &, o4 %A
(D) ® WA, ASshI, THI-T21, dreft-Tom &

freafafad Yerv % fae™ & ST{aR ¥e %7 Uy :
(A) YT HIShl F1E, Afesk U, S ol
(B) X IEeie, YT, HIEsh! HIE, (e 0
(C) TIEEh! HTS, AifeHh 20, 5o eoaie, TR
(D) HHfew 20, 5ol Soele, YUY, Higeh] h1e

Frefataa geenfia deensti ®i 376 &1 HATER T8aid ¢

(A) TIMA ARl ATE sfean (Fiaewman), foodd! afsares arRedl, Ssga=yr &= Te ¢
T, TS TH HIEH T AR FIS-<yH

(B) foel ufserer ameeld, Sisga—=yH REd T i Uy, T T8 AT T e hie-evH,
YA AR 3TF Sfea (hicTehTan)

(C) SgH=YA e T M ¥y, TS 0 Aied 19 Aol WioweyH, T¥Hd aReldl 316
sfean (i), feoe dfscrs ARy

(D) TS TH HIgT T AR ISV, A¥Fe AEad 3k gfean (i), foeet afets

Feafafed | § i ST 3TRT ¥ (ascending order) ¥ T |
A) g, T STEEE, W WIS, o wiEeH
B) Mg, A SIEeH, T A15eE, 3 g
C) drEed, 0 a5eH, A Mgy, T sged

D) W d1Eed, 9Ed, <0 91ged, T aEed

(
(
(
(
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32.  Which of the following would be the correct chronological sequence ?
(A) Bibliometrics, Informetrics, Librametry, Webometrics
(B) Librametry, Bibliometrics, Informetrics, Webometrics
(C) Librametry, Informetrics, Bibliometrics, Webometrics
(D) Bibliometrics, Informetrics, Webometrics, Librametry

33. Arrange the physical forms of catalogue in the chronological sequence :
(A) Register, Sheaf Catalogue, Card Catalogue, OPAC

(B) Sheaf Catalogue, Register, Card Catalogue, OPAC
(C) Card Catalogue, Sheaf Catalogue, Register, OPAC
(D) Sheaf Catalogue, Card Catalogue, Register, OPAC
34. Match the following :
List-I List-II
(Term) (Forms of Communication)
(a) Invisible college (i)  Physical carrier
(b) Noise (ii) Formal channel
(c) Medium (iii)) Barrier
(d) Document (iv) Informal channel
Code :
@ ) @ (@
A) @@ @) 3 Gv)
B) @) @@ 3D (v)
Q) (v) (i) @G) @)
(D) (v) () (1) (@)
35. Match the following :
List-1 List-11I
(Work) (Author)
(a) Subject Classification (i) J. Atchinson
(b) Thesaurofacet (i) C.A. Cutter
(c) Classified Catalogue Code (iii)) J.D. Brown
(d) Rules for Dictionary Catalogue (iv) S.R. Ranganathan
Code
@ b)) @ (@
(A) () @)  @Gv) (@)
B) @) G @G o @Gv)
(©) (v) (@) @) ()
D) @ G) 3§ (Gv)

D—5906 12



fay

o

32. froafafad § § o9 981 HgwT STIHT ¢

(A)
(B)
(©)
(D)

33. T % Aifdew W&l &I FA HATIR A Rt :

(A)
(B)
(©)
(D)

34. freafafed FE=R-1 % w5 1 gE=I-11 % 711 § fiesd

35. freAfated -1 w51 & g=-11 & 7al § foamd -

foeeamfesd, SThRufesd, foramdl, damfess

§7
=l

e, foeeiadfesd, SThRATesd, damiesy

ST, ShRTesd, Taseiamfesy, Jamicsy

INE e, AT, FTE headf, 3TIh
£ =3 ~ o

TS HeA, IME FHear, T, 3T

I FHAT, HTS hear, T, AU

TqeEit-1 qEt-11

(T / UT) (TowuT & fafia i)
YA HRIoTEerd () VR Hare®

IR (i) sfro=nfie e

aem (i) =FIH

EISEC] (iv) STHII=TRe Aeaq

(@ @ () (@)
i) @) () (i)
() @) (@) (@)
(iv) (i) () @
(v) (i) @ @)

-1 qEi-11
(=T ) (TR
fawa anfteror () 3. TEE
Thesaurofacet (i) T FX
Ffipd YT DS (iii) .2 STA

IeHY AT UF * AU oW (iv)  TH.AR TTed

(@ () (o) (@)
(i) @) Gv) ()
() @) () (@)
(iv) (i) @) @)
@) @) @) (@)
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36. Match the following :

a)
b)
<)

(
(
(
(d)

List-I

(Research Methods)
Content Analysis
Questionnaire
Observation

Case Study

Code :

@ ) (© (@
) (v) (i) (i)
i) () (v) (i)
i) @) () @Gv)
iv) (i) () G)

37. Match the following :

a)
b)
<)
d)

o~ o~ o~ o~

List-I

Maharashtra Public Libraries Act
Gujarat Public Libraries Act
Orissa Public Libraries Act

West Bengal Public Libraries Act

@ (b)) @@ ()
(i) (D) @G) ()
(i) (v) (@v) (i)
(i) (@) @G) (V)
(v) (i) (v) (i)

38. Match the following :

a

C

=3
N~ N

(
(
(
(

oS0=E> =

~ o~~~
~ ~—

D—5906

List-1
Scientific Management
Unity of Command

Management by Objectives

Forecasting

@ () © (
(iv) (@) @) (i)
(i) G () (iv)
(i) @) @G @Gv)
(i) @)  @Gv) (i)

(i)

(i)
(i)
(iv)

List-II

(Type)

Data Collection Tool
Qualitative Methods of Analysis
Methods of Research

Direct Method

List-IT
i) 2004
(i) 2005
(iii) 1967
(iv) 1988
(v) 1979
List-IT

(i)  Esprit de crops

(ii) Peter Drucker

(iii) Factor of Planning

(iv) Efficiency and Waste Prevention

14



36. freAfated -1 A&l & F-11 & 7al § foamsd -

(a)
(b)
(c)
(d)

HIS:

(A)
(B)
(©)
(D)

eil-1
( virer wuTTferat )

TRy faveryor
PREICTSI
TTATRA

HE AT

(a)
@)
(ii)

(iii)
(iv)

(b)

(iv)

(i)
(i)

(iif)

(c)

(iif)

(iv)
(i)
(i)

(i)

(i)
(iif)
(iv)

(d)
(i)
(iif)
(iv)
(i)

qEt-11

(utET)

3he FUST H HT SR
forgetsoT &t e gountaal
30y &t goTe

a8l Joleit

37. freAfafed g=-1 % w5 & g=-11 % wel 9 foesd

(a)
(b)
(c)
(d)

HIS:

(A)
(B)
(©)
(D)

i1
HEWY WS [ USe

TSI ATaSTeh TEehlerd Tse
ST FrESITh JEIherd T
= de eSS Ry T2 (iv) 1988

(a)
@)

(ii)
(iii)
v)

-1I
i) 2004
i) 2005
(i) 1967

(b)
(iii)
)
@)

(ii)

(c)
(ii)
(iv)
(i)
(iv)

(d)
(iv)
(iii)
v)
(iii)

(v) 1979

38. fremfafad g=-1 & w2 = g=i-11 % #ei 9 fHermsd

(a)
(b)
(c)
(d)

HIS:

(A)
(B)
(©)
(D)

D—5906

qeit-1

qrsfeftheh A SH—=<
A SAE HATE

TASTH= 31T STTSSiselas

(a)
(iv)
(i)

(ii)
(iii)

TR

(b)
(i)
(i)
(ii)
(i)

(d)
(iif)
(iv)
(iv)
(i)

Heit-11
() TR S w
(i) U W

(i) TS 3H AT

(iv) SHREE=HT TUe 9 T

15
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39. Match the following :

List-I List-II
(a) Search Engine (i) Internet Explorer
(b)  Subject Gateway (ii) Dogpile
(c) Net Browser (iii)) FTP
(d) Meta Search Engine (iv) SOSIG

(v) Altavista

Code :

@ b)) @ (@
(A) (v) () (@) (@)
B (v Gv) @ 3
© (v @) @) (i)
D) (v) @ @Gv) (i)

40. Match the following :

List-I List-II
(a) ERNET (i) Japan
(b) JANET (i) Global
(c) RLIN (iii)) India
(d) OCLC (iv) United Kingdom

(v) USA

Code

@ m) @ (@
A) (v) Gv) @) (3
B) (@Gv) (v) (@) (i)
(©) () (@Gv) (v) (i)
(D) () (1) @Gv) (V)

41. Match the following :

List-I List-II
(a) Origin of a word (i) World of Learning
(b)  Synonyms for a word (ii) Dictionary of Etymology
(c) How to install a gadget (iii) Encyclopedia
(d) Address of Oxford University (iv) Manual

(

v)  Thesaurus

@ (b)) @ ()

(A) (i) (v) (v) (i)
(B) (v) (i) (v) ()
€ (v) (v) @ (i)
(D) @) () @v) @)

D—5906 16



39. freAfafed g=-1 = w5l & F=-11 % 71l § foasd -

-1 qEt-11
(a) U T~ (i) TR T
(b) HESIE Ted (i) ErTIEd
(c) ™2 =R (iii) TH A G
(d) T Ed T=H (iv) HrEm
(v) STeREeT
Fe:

(@ ® (o) (@
(A) (v) (i) @G) @)
B) () @(v) @ (i)
© ) @ @) (i)
D) v @O @v) (i)

40. freafafed g=-1 % w2 =1 g=i-11 % w7 9 fHermsd -

TqeEit-1 qEt-11
(a) T (i) A
(b) S (i) TAEA
(c) SR THA A T (iii) gfeam
(d) ETEE (iv) IAEce fhmen
(v) ITEY
aﬁs-' .

(@ b)) () @
(A) (v) (@v) (1) (i)
(B) (v) (v) () (i)
(C) (i) (@Gv) (v) (i)
(D) (i) (@)  (@Gv) (v)

41. TrAfafed g=i-1 % 751 & g=-11 % we) 9 foeed

-1 qEt-11
(a) TT A1 39S (i) dTTS A® AT
(b) TN T GAFAT (i) TemMG oAT® SAHArSH
(c) TR I =Te] HE (iii) STEESATEA
(d) SITRE IFEES FT@ (v) HgId
(v) Taars
FiS:

(@ b)) () @
(A) (i) (v) (iv) (i)
( (v) (i) @Gv) @)
©) (v) (@(v) () (i)
( i) () @) @

D—5906 17 P.T.O.



42. Match the following :

List-I List-II
(a) Nehru Memorial Museum Library (i) Chennai
(b) Connemara Public Library (i) Pune
(c) Bhandarkar Oriental Research Institute

Library (iii) Patna
(d) Khudabaksh Oriental Library (iv) Delhi

(v) Allahabad

@@ () (o (d)
(A) (i) (v) (@v) (i)
B) ) Gv) @ ()
( v) () (@) (@)
( iv) (i) (@) (i)

43. Match the following :

List-I List-II
(a) IFLA (i)  Science Citation Index
(b) Unesco (i)  First search
(c) OCLC (iii) Patent Information
(d) 1IsI (iv) Public Library Manifesto

(v)  Universal Availability of Publications

Code

@ @®) @ (@
(A) (D) (@v) @) (@)
(B) (v) (@) (@G) @)
Q) (v (@v) G) @
D) (v) @ @Gv) (i)

44. Match the following :

List-I List-1I
(a) E-Mail (i)  Bulletin Board
(b) FTP (i) Remote Log In
(c) TELNET (iii) Library Network
(d) USENET (iv) Moving/Downloading Files

(v)  Exchanging Message

@ (b)) @ ()

(A) (@v) (@) (v) ()
(B) (v) (v) @) @)
(€ G Gv) @ (i)
D) v @O @v) (i)

D—5906 18



42. TreAfafed g=i-1 % 751 & g=-11 % we) 9 foesd

-1 qEr-11
(a) g% AHIREA SYFTaH AR (i) =%
(b) HHUN Tfeetsh aTEo i) g
(c) YeRE Aifded e s2iege aeeld (i) 9ol
(d) FeTEsI e dRed (iv) fooedt
(v) ST
Fe:

(@ ® () (@
(A) (i) (v) (@v) (i)
B) () @Gv) @ (i)
©) (v (@) @v) (@)
(D) @v) &) @) (i)

43. frafafed g=-1 & w2 =1 g=i-11 % w7l 9 fHermsd

-1 qEt-11
(a) Eoedl (i) HITH HEEH g5
(b) TR () W= Od
(c) M TawH (i) U= TTRIETH
(d) oTE.uH.emE (iv) dfeTsh e HHTHE

(v) Ffede srafafaeel dAin a4

(@ b)) () @
(A) () (@Gv) () @)
(B) (iv) (i) (1) (i)
<€) (v) (@v) @) @
D) (v) @ (@v) (i)

44. TrAfafed g=-1 % 751 & F=-11 % we) 9 foemss

-1 qEt-11
(a) I-HSA (i) eifed o
(b) THIA (i) fHRTm-4H
(c) Teme (iif) WSS HeTH
(d) e (iv) 6T/ SEACET hEed
(v) SEdl-s HES

(@ (b)) (@ (@)
(A) (v) @) (v) @)
(B) (v) (v) @G) @)
Q) (i) Gv) @ (i)
D) (v) @ (@v) (i)
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45.

Match the following :

List-I List-1I
(a) MS-DOS (i)  Multi-User Operating System
(b) UNIX (i) DTP Software
(c) Excel (iii) DBMS
(d) Pagemaker (iv) Single User Operating System

(v)  Spreadsheet Software
@ b)) @ (@

(A) @v) (v) (@ (i)
B) (v) @ G (i)
(€ Gy @ G (v
(D) @v) @) (v) (i)

Read the passage given below and answer the questions based on your understanding
of the passage.

Digital devices measure and display discrete quantities. Most clocks, for example
are analog in nature and have hands that sweep along a continuous scale as do the
needles on speedometers Digital clocks, however, display discrete numbers standing
for the time. The numbers are either there or they are not, and they click into position
virtually instantaneously. In fact, speed and accuracy are distinguishing features of
most digital devices, because analog equipment comes in a poor second on both counts.
A valid comparison can be made between slide rules, which are analog, and pocket
calculators, which are digital.

Accepts information in a unitary form, i.e., letters, symbols and numbers. These
may represent anything the computer user wishes. All calculations and processing of
the incoming data are done on the digital computer. Thus, all the mathematical rules
and functions may be applied and the results are printed out in conventional letters,
symbols or numbers. Thus, these are general purpose computers suitable for information
processing in general.

“Hybrid” computers have been developed to take advantage of the strength of
both analog and digital devices. Typically, analog computers will measure physical
quantities such as temperature or pressure and then relay the data to digital computers,
which, because of their greater speed and accuracy, can perform statistical computations
on the data easily. The output is then displayed in a convenient form for the human
beings responsible for conducting or monitoring the operation in question.

Because of their unique capabilities for symbol manipulation, digital
computers loom for more important in applied information science than the other types,
and it is to them that we shall be referring when we speak of computers from now on.

D—5906 20



45. TreAfated -1 w751 & F=-11 & 711 § foamsd -

TqeEit-1 qEt-11
(a) THUH-BH () TR IR ST fawen
(b) FF=| (i) SR Heedar
(c) T=HA (iii) EeTTATH
(d) USHH (iv) THTa IER eArafen faweq
(v) TIEEie HisedaR
FS:

(@ (b)) (© @)
(A) @v) (v) @ ()
B) (v) @ G (i)
(€ @) @) G (v)
(D) @Gv) @) (v) (i)

fefSea gfsa wem gus afmmll &1 Aot ©d <uidl ¢ | eifushan wfew, 3eTevomen,
ghfad | T Bt § 3R ITR HIe SRR TR H ¥ SH YR gHA § S iand 75
(Speedometer) =1 gt | fefSea ufean, firt «ff, Jus @ dsanst &I eI € S 999 & Jdieh
T W o o el wdt § A A T oft <, A T oo o1 Sfea feufd W erers wdt ¥ 1 e @
Tg ¢ o atfersran fefSea gfsa wemt & wfwgfs ok wfa fafew e € safere T @ 3
gl TN B fefsea gfsm el @ 99 €1 % ¥ % Tl (Slide Rules) & @ et
SHifererul g 1 ST Fehdl & | A€ T TATGNT 3R St Shersgerey, o7 fefSteat g €, & &t o
kel |

fefsreat gfsm wrem g= #i Uehss &9 A2 T30, Yol Tean Hoansi # WaRFW g1 3
FR TR 1 SEHER ol oft awg 1 yfafafae #X Thd €1 Feft 7oA SR Hm
AT WA % ghE fefSedt wewer W foran S 1 safan, o8 wme ael % fan weesm
§ T TR G % YoRH & forT S €1

‘g’ (Hybrid) et %1 foenm Tran vd fefsred s wrem =51 &1 <1 o o1
1Y 33M & Taw foven T ©1 fafimwden, TAem weege Hifas aiEmen &1 7 S 5| o a
Td qard ke § R R 3 g fefsea wewed & fau gad=nfaa @ s g1 3 fefsea
FeRR, I AR A TR GG F HRO, Tl o<t Hifeaeh! IUHT o Fd &l Terdl 9
FIGHA ¢ | TR SIS+l Tes &9 A 37 @i o fore guiien S gehar € S 9 wiwan =1 A
ToET ST AT B 7 gu e

iR 37 H Ydlieh JoheTd o TorI&ToT &oel Bl § SHiaT fefied weee eI qa T
T o o171 YR % g2l 1 STUT ST Weeoqui ¢ | 3R 37 ST §H Foed i o ],
3 fefStea womped ot 3R & Hoha g |
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46. The distinguishing features of digital devices are :
(i) Speed (ii) Accuracy (iii) Timeliness (iv) Easy to Carry
(A) (i) and (ii)
(B) (i) and (iv)

(C) (iv), (iii) and (i)

(D) (i), (iii) and (iv)

47. Digital clocks are analog in nature because :

(A) they have two hands

(B) their hands sweep along on a continuous scale
(C) they show time
(

D) display discrete numbers standing for time

48. Hybrid computers are developed to take advantage of :
(A) strength of analog devices
(B) strength of digital devices
(C) strength of both analog and digital devices
(

D) strength of none of the above

49. Analog computers measure physical quantities because of :
(A) the temperature and accuracy
(B) their greater speed and accuracy
(C) the human beings
(

D) the complexities in operations

50. Digital computers assume more importance in applied information science because

(A) the lack of capabilities for symbol manipulation
(B) the capabilities for symbol manipulation
(C) the capabilities for digital manipulation
(D) the lack of capabilities for digital manipulation

-00o0-
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46. Srsiea Ffem Aol % fafem e @

47.

48.

49.

50.

() T

(i) wRfs

(i) FHATTER

(iv) ST i STEHL
(A) (i) T (ii)

(B) (i) T (iv)
(©)  (iv), (ifi) 3R ()
(D) (i), (iii) 3R (iv)

(A) STHAFLEE

(B) T e a9 # g

(C) o THg T 2|

(D) 999 & ford = o doan yefiid &% 2|

TR Fowe™ 1 faw feafafad &1 a9 on g g ® ¢

(A) TATER gfsd |1eE i gmed

(B) Sistiedt Jia WieA i qmeA

(C) TATAN Ta Srsftedt Ifia el a1 arqed
(D) 3TsA | ¥ #E off 7

AT Sheget Hifaeh TRETer HIoA &l © ST
(A) dmsFH TE TRyfs

(B) Tl el T To IRl

(C) wra

(D) HameH § Sfeed

STTIST Ga a9 H SiSiied Hee™ &1 0ed ¢ Salfh

(A) Tohd TR I &THAT T FHH
(B) Tohd TEAHINICT i &THAT

(C) SISiical SEAhITIA hi &l

(D) SISiical S&AhIVIA hi &Hdl i HH!

-00o0-
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Space For Rough Work



